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7 Indian Constitution

8 | Computer Aided Engineering Drawing
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Second Semester B.E./B.Tech. Degree [.xamination, June/July 2023
Mathematics — Il for CSE Stream

Time: 3 hrs Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. VTU Formula Hand Book is permitted.

3. M : Marks , L: Bloom's level , C: Course outcomes.

|

Module—1 M[L | C
7

‘ i ia? Vi=xtey® v
Q.1 |[a. Evaluate I _[ Ixy& dz dy dx. L2 | COl
{ 0 0 0
| T
b. [\dluatc by changing the order of integration ”x 5 yz dxdy 7 | L3 cot
0y
B oy "—_I r'__ e, B e T T
. | Show that B(m, n)= (i) Ln_) 6 | L2 COIl
‘ I'(m+n) l I |
: OR #= h
\4 X3 ;
02" |fa: l Evaluate I J(2 — x)dy dx by changing into polar coordmales 7 | L3 | COl
b. | A pyramid is bounded by three coordinate planes and the plane | 7 | L3 Cco1
x+2y+3z=6. Compute the volume by double integration.
c ' Using Mathematical tools, write the code to find the area of the cardioids | 6 | L3 | CO5
r=a(l+cos 0) by double integration. :
Module — 2
Q3 |a. | Show that the two surfaces xz+y+2° =9 and z=4—4xy at(l, -1, 2) are 7 | L3 | CO2
Ii orthogonal.
b. | If F=grad(xy’z*), find divF and curll" at the point (1, -1, 1) 7 | L2 | CO2
¢. | Prove that the cylindrical coordinate system is orthogonal. 6 | L3 | CO2
OR
Q.4 |a. | Find the directional derivative of ¢p=xlogz—y*+4 at (-1, 2, 1) inthe | 7 | L2 | CO2

direction of the vector 2i - j—2k.

b, | Find the constants a, b and ¢ such that 7 | L2 | CO2
F = (axy — 2°)i + (bx? + z)j+ (bxz’ + cy)k
is irrotational, :

¢. | Using the Mathematical tools, write the codes to find the gradient of | 6 [ L3 | COS
¢=xy223

| of3




BMAT?&Q\ -

Module -3

Q.5 ] Let W = {(x,y.2)|Ix + my + nz =0} , then prove that W is a subsp'zcc ofR". | 7 [ L2|CO3

b. l Find the basis and the dimension of the subspace qpanmd bythc vectors 7 | L2 | CO3

{(2.4,2),(1,-1,0),(1. 2, 1),(0, 3, 1)} InV\(R)

C. ‘Provc that T: R’ — R* be defined hv I(‘( Y, 2) ——(2x ’iy. x+4,57)isnota| 6 | L3 | CO3
' lincar lrnnsformmion.

OR

Q.6 | a. ‘Shm\ that the matrix FE = "

lies in the sub space span {A, B, C! of | 7 | 1.2 | CO3

vector space Mas of 2 x 2 matrices, where ‘ 1

10 2 =3 0 1 ‘ f
| A= RISt and C = : !
4 2 1] 10 2 2 0 o t

b. | Verity the Rank- Hll“ll\’ lhmum for lhc Imual tmnslornmlmn T:RP>R*|7|L3 | CO3 |
defined by T(x.y.z) = (X 2y -z, y + z,x + y = 2z).

' Define an Inner produet space. Consider f(t)=4t+3, g(t) = t*, the inner | 6 | L2 | CO3

- product <f, t> It(t t)dt. Find <f, g> and ||gH

Module —

o o i [ D

Q.7 | a. | Find the real root of the equation xlog,,x —1.2 by the Regula-Falsi method [7]L2]CO4
' between 2 and 3. (Carryout three iterations). | :

b. | From the following table, estimate the number of students who have | 7 | L2 | CO4 |
obtained the marks between 40 and 45. s {

ol

e ke

Marks 3040 [40-50 [ 5060 [ 60— 70 | 70 — 80 W
Number of students | 31 2 ]l 35 3 | e

3(h }

¢. | Compute the value of jsmx lo°x+e )dx using Slmpqon S 3 rule | ¢ | L3 | CO4 |
: 02 Vi . I

taking 31x parts.

Q8 |a. | Usmg Newton Raphson method compute the real root of the equation | 7 | L2 | CO4
xsinx +cosx =0 near X =1, correct to four decimal places.
b, | If y(0) = -12, y(1) = 0,-y(3) = 6 and y(4) = 12, find the Lagrange’s | 7 | L2 | CO4
interpolation polynomial and cstimate y(2).

| ¢ dx % ‘ ] _ 6 | L3 | CO4
¢. | [valuate J' - using Trapezoidal rule by taking 7 ordinates.
| ) 4% 45

Module —

dy

Q.9 |4 | Employ Taylor’s series method to obtain y(0.1) for s 2y +3e*,y(0)=0| 7 | L2 | CO4

considering upto 4" degree terms,

b. Y| gi
Using Runge Kutta method of fourth order, solve y'= log,o[l x] given | 7 | 13| CO4
y(0) =1 at X = 0 2

e el
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First Semester B.E./B. Tech. Degree Examination, June/July 2023

Mathematics-l for CSE Stream

Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. VTU Formula Hand Book is permitted.
3. M Marks, L: Bloom's level , C: Course outcomes.

. Mgzl 4 M[L][ C |
Q.1 | a. | With usual notations prove that 06 | L2 | COI
tang = r Ej—() l
dr RS s (L oiTa mia e ARCTIERE W ] v
b. | Find the angle between the curves i = a” cosn0_and " =b"sinn0 |07 12 | COL]
¢. | Find the radius of curvature f[or |07 | L3 ‘ coO1 |
T Y =
Vx+yy=va at (3. 9] | ]
OR
Q.2 | a. | With usual notations prove that 07| L2 | CO1
_(+y)”
) A
b. | Obtain pedal equation for the curve 1" =a"cosn0 . 08| L2  COI1 i
¢. | Using modern mathematical tool write a progrmh/éode to plot the curve | 05 | L3 | CO5 l
r = 2|cos 26| -
Module — 2
Q.3 Expand Leg(cos x) by Maclaurin’s scrics upto term containing x° 06| L2 | CO2 !
!
5 5 07| L2 | CO2 |
If uzf[i,l,ij, show that xi—u+yﬂl+zai=0 ’
V&7 X B, 5 Oy N0z,
Find the extreme values of the function x*+ y* — 3x — 12y + 20 07 | L3 | CO2
OR
It (a* ghthct v )
Q4 Evaluate 25
o 4 07| L2 | CO3
fu=2%, y22 w=2 showthat v, ) L 08 | L2} CO3
X y z ; A(X,y,7)
Using modern mathematical tool write a program/code to show that | 05 | L2 | COS
U + 0y = 0 give u=e" (x.cosy—y siny)
Module - 3
Q.5 Solve : x%+y=x“y" 06 | L2 | CO3
b. | Find the orthogonal trajectories of the family of the curves 1 sin n0 = a" | 07 { L3 | CO3
where ‘a’ is parameter,
Solve : xyp” = (X" +y )p +xy =0 07| L2 | CO3
i OR
3 i3
};'%"Fg}

RSB A o
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Solve (x” + 5"71‘1—‘\7\11\'7" yxdy=0 . Wl

06

L2

CO3

6 ta. 20 e
b. | Find the gencral and singular solutions of xp’ 1 xp 1 Al S 07| L3 | CO3
¢. | Find the general solution of the equation (px = y)(py + x) = %p by reducing | 07 | L2 | CO3
into Clairaut's form by taking the substitution X = XY=y
__ Module -4
Q.7 | a. | Find the least positive values of *x’ such that 06| L2 | CO4
1) 78 +x=3(mod 5)
i) 89 = (x + 3)(mod 4) h
b. | Find the solution of the linear congruence 07 | L2 | CO4
l4x = 12 (mod I8)
¢. | Encrypt the message STOP using RSA with key (2537, 13) using the prime | 07 | L2 | CO4
numbers 43 and 59.
OR
Q.8 |[a.|1) Find the remainder whcnl223 is divided by 47. 06| L2 | CO4
i) Find the last digit in 7'"". e
b. | Solve the system of linear congruence x = 2(mod 3) ; x = 3(mod 5) ; 07| L2 | CO4 '
X =2(mod 7) using Remainder Theorem. ‘
¢. | 1) Find the remainder when 175x113x53 is divided by 11. 07| L2 | CO4
ii) Solve X’ +2x-3=0 (mod 9)
Module - 5
Q.9 | a. | Find the rank of the matrix 06| L2 | CO4
23 =ba
St RIS e
Sl 1.8
6 3 0%-7
b. | Test for consistency and solve 07| L2 | CO4
2x+8y+72=52; 2x+ty—z=07%'x+y+tz=9,
c. | Using Rayleigh’s power method find the dominant eigen value and the | 07 | L2 | CO4
05 =242 I
corresponding eigen vectorof | =2 3 —1| by taking Xo=|1].
PR T I
& OR
Q.10 | a. | Solve the system of equations  x -+ 2y~2=3; 3x-y+2z=1; 07| L2 | CO4
2x — 2y + 32 = 2 by using Gauss-Jordan method.
b. | Solve the system of equations 20x +y-2z=17, 3x+ 20y-z=-18; 08| L2 | CO4
2x — 3y + 20z =25 by usi’ng Gauss — Seidel method.
¢. | Using modern mathematical tool write a program/code to find the largest [ 05 | L3 | CO5
lial=8
eigen value of A= 11 5 1| by power method.
p. F |
% Aok ok ok
PR
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mester B.E./B.Tech. Degree Examination, .
Applied Chemistry for CSE Stream

BCHES102/202

June/July 2023

Max. Marks: 100

Time: 3 hrs.

Note: 1. Answer any FIVE full questions,
2. VTU Formula Hand Book is permitted.
3. M : Marks , L: Bloom w level , C: Course outcomes.

choosing ONE full question from e

ach module.

oI , . i i
~ Moduke{ ________& o EMEIAR [ C |
Q.1 | a. | What arc sensors? Explain how Elcetrochemical gas scnsors used to | 07 | L1 | CO1
detect SO, and NO, gascs.
Lt e e
b. | With a neat sketch explain the measurement of dissolved oxygen by | 06 | L1 col1
electro-chemical sensors.
c. | Explain the construction and working of Li-ion battery. Write the | 07 | L1 | COl
charging and discharging reaction.
2 £
OR
Q.2 | a. | Explain the construction and working of sodium ion battery. Write the | 07 | L1 COl1
charging and discharging reaction.
b. | Explain the detection of pharmaceutical pollutant dichlofenac using | 07 | L1 | CO1
electrochemical sensor.
¢. | What are disposable sensors? Explain the detection of ascorbic acid. | 06 | L1 | CO1
Write the oxidation reaction.
Module — 2
Q.3 |a Wh.at are memory device? Briefly explain the classification of memory | 07 | L1 | CO1
device. :
b. | Explain organic memory. devices of p-type and n-type by taking | 06 | L2 | CO1
example of Pentacene.
c. | Discuss the application of liquid crystals in display devices. 07 | L2 | CO1
Q.4 Wi OR
. a. iat are Photoactive and Electroactive material? Briefly discuss thei
- atcrials ewr | 07
role in opto-electronic devices, y L1 | Co1
b. | What are liquid crystals? Briefly explai ificati W TPRer
; als? plain the classification of |
crystals with example. iquid | 07 | L2 | CO1
¢. | Discuss the application of Polyimide Polymeri i :
; eric materi .
e evice oy y material for organic | 06 | L1 | CO1
Q5 & [Whati e T Module - 3
: - at is‘corrosion? Explain Electro i : -
iron as example. P chemical theory of corrosion taking | 07 | L2 | CO3

y
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What are reference electrodes? Explain the construction and working of 07 | L2
calomel clectrode.
Two cadmium rods immersed in Cadmium Sulphate solution of | 06 L2 | CO
concentration 0.002 M and 0.4 M. Write the cell representation, cell
reaction and calculate the EMF at 25°C.
- i ,._AL,.—_—A-————J
Ex s OR .
NSRS *’4[—_’—__

Q.6 What are ion selective electrode? Explain the determination of pH ofan’| 07 | L1 CO3
unknown solution using glass electrode.
What is anodizing? Explain the anodizing of aluminium. 07 | L1 | CO3
A thick steel sheet of area 450 em’ is exposed to air near ocean. After | 06 L1 | CO3
one year it was found to experience a weight loss of 385g due to
corrosion. Calculate the rate of corrosion in mpy and mmpy. [Density
of specimen 7.9 g/cm3, k = 534 for mpy and k = 87.6 for mmpy]

Module — 4 ‘ Sl

Q.7 Discuss the conduction mechanism of Polyacetylene. 07 | L1 | CO4
With a neat sketch, explain the generation of Hydrogen by Alkaline 07 | L1 | CO4
Electrolysis of water.
In a polymer sample 20% of molecules have molecular mass | 06 | L1 | CO4
15000 g/mol, 35% molecules have molecular mass 25000 g.mol and
remaining percentage have molecular mass 20000 g/mol. Calculate
number average and weight average molecular mass of the polymer

OR

Q.8 What are PV cell? Explain the construction and working of PV cell. 07 | L2 | CO4
Explain the preparation, properties and application of graphene oxide. 07 | L2 | CO4
What is green fuel? Mention the advantages of green fuel. 06 | L2 | CO4

: Module — 5

Q.9 What are e-waste? Explain the sources and composition of e-waste. 06 | L1 | COs
Discuss the various steps involved in recycling of e-waste. 07 | L1 | CO5
Write a note on various stakeholders in e-waste management. 07 | L2 | CO5

OR

Q.10 Explain the various steps involved in extraction of gold from e-waste. 07 | L2 | CO5
Discuss the extracfion of metals from e-waste by pyrometallurgy. 07 | L2 | CO5
What are the toxic metal used in electrical and electroni
Discuss their ill effects. ics products? | 06 | L1 | COS

“’*\TT * kK kK
A 2 of 2
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Second Semester B.E./B. Tech. Degree Examination, June/July 2023
introduction to Electronics and Communication

Max. Marks: 100

Time: 3 hrs.
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M s Marks , L: Bloom's level , C: Course outcomes.
Module=1__ '#“"M‘T_L”; C_|
Q.1 |a. | What is Regulated Power Supply? With neat block diagram, “explain the | 8 | L2 | CO1
working of DC power supply. Also mention the principal components used
in each block.
b. | What is an Amplifier? Explain the types of Amplificr. 4 |L2|COI
¢. | With neat circuit diagram and wave forms explainwﬁyll wave bridge |8 | L2 | CO1
rectifier.
OR
Q.2 |a. | What is Voltage Regulator? With, ncat circuit diagram, explain the | 7 | L2 | CO1
operation-of a voltage regulator using Zener diode.
b. | Mention the advantages of negative feedback in amplifier circuits. With | 7 | L2 | CO1
relevant equations and dmglam explain the concept of negative feedback. v :
c. | What is Voltage Mu]t]plm') With circuit dxagram exp]am the operanon off{6 | L2 | CO1
voltage doubler. da, :
Q.3 |a.| What is Op — Amp) Explain the . various parametcrsr of Operational | 7 | L2 | CO2
Amphﬁer B
b. | Sketch the circuits of cach of'the following based\c;m‘ thec use of Op—amp | 7 | L2 | CO2
along with input and output wave forms :
i), “Integrator ii) Voltage follower . iii) Comparator.
¢. | Explain the operation of three ~ stage ladder RC Network Oscillator with | 6 | L2 | CO2
neat circuit diagram.
OR
Q.4 | a. | Explain the Bdlkhduscn criteria for Oscillations. In wein bridge oscillator if | 7 | L3 [ CO2
C; = C; = 100 nF, determine the frequency of oscillations when
R; =Ry = 1kQ. -
b. | Explain the opcmuou of Single stage Astable multivibrator with its circuit L2 | CO2
diagram. v
c. | Explain th@etldcal characteristics of an Op — amp. L2 | cO2

[Eaf2
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A TR S ol SR el & - T
T AL odule -3 ey ]
ﬁs Convert the following : ¥ g | L3 | CO3
i) (1 AD.EO)o= (Do i) (37.625)10= (7):
i) (110100111001.110)2 = (?)x V) (345.AB)16= (T
NBATAr S 1 ith 1tan e R S T CcO3
State and prove De = Morgan’s theorems with is truth table. 6 | L2
‘ hnp]umnl the following Boolean functions by u'-un logic gates ! ¢ -Wl 6 | L3|CO3
i) Ei=xy +x% in) I’;:\V/'xy/'w \ \
g B ot Rt ) e
OR PO
Q.6 Perform the following : 8 L3 Cco3
i) (1010100); = (1000100) using 1's complement and 275 complement ‘
method.
i) (4456)0 — (34234)1p using 9’s complement and ]() s complement
method.
Implement full adder circuit with its truth table and write the exp‘lfé—:.—éﬁ)_ﬁs 6 | L3|CO3
for sum and carry.
Express the Boolean function F= A + B’ @ in a sum of min terms. 6 |L3|CO3
: Module — 4
Q.7 What is an Embedded system? Compare Embedded system and General | 7 | L2 | CO4
computing system.
Using suitable diagrams, explain Instrumentation and Control System. 7 | L2 | CO4
DIQLUSé‘;n;j(;i_dpp]ltdllon areas of Embedded- <yslcms ‘with exahﬁiles 6 | L2 | CO4
OR I
Q.8 Write a note on Cow of Embedded syslems with its block dldgmm 7 | L2 | CO4
Explain how 7 s(.g LED display can' bc uscd to dlsplay‘ the data and writea | 7 | L2 | CO4
brief note on opcratlon of LED. S
Explain the classmcdtlon of Embedded systems. 6 LEZ | €04
“Module —5 .
Q9 De,scnbe the blocks of Modem Commuanllon System with neat block | 8 | L2 | CO5
dxa&,ram : .
Explain with a neat dmt,ram the comepl ol Radio wave propagation and its | 7 | L2 | COS
different types.
Explain different Multiple Access Techniques. 5 | L2 | COs
OR
Q.10 What is Modulation? Explain Amplitude Modulation (AM) and Frequency | 8
L L
Modulation (FM), WJIh neat waveforms. UENEY 2| COs
List the advanngcs of Digital Communication over A
: \nal
Communication, alog | 6 | L2 | COs
Explain lhg followmg with the help of waveforms :
1) ASK:% C i) FSK  iii) PSK. 6 |L2|CO5
E A
2 0f2
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Second Semester B.E./B. Tech. Degree E xnmination. June/July
Introduction to Python Programming

Max. Marks: 100

question from each module.

2023

Time: 3 hrs.

Note: 1. Answer any FIVE full questions, clmming ONI full
2. M : Marks , L: Bloom's level , C: C unrec OUICOMES.

i e T R SN Mmlulc—1 ST S, M AR TR
Q.1 |a. ' Demonstrate with example print (), mput () and string rcphcduon 6 | L3 | COl
| ¢ Eibonacei 6 | L3|CO1

b. | Develop a program to gcncr.itc{ Fibonacci \(]ll«ll‘(, of lcngth (N) “Read N
from the console.

N N -

¢ Explain‘cl'if. for , whil;::‘brcék and continue statsc'i{{cms in pythbn with | 8 | L2 | CO1
examples for each. "%, o g,

OR

Q.2 a. | What are user: defmed functions? How cah we. pass parameters inuser| 5 | L1 | COIl
defined functmns’ Explain with suitable’ example

,\ \‘(

b. Expldm Local and Global scope w'th,,varmbles for each. 8 |L2| CO1

A\

c. Develop a program to read the*ﬂéme and year of birth-of a person. Print | 7 | L3 | CO1
whether the person is a qcmor ¢itizen or not. &

VVANANYL 8T T LI T IIIRN

03 |a 8 | L2 | CO2
b. 12| L2 | CO2
Q4 |a. 6 | L2 | CO2
,*bgw' 4 |L1|CO2
v
¢. | Read N numbcrs from the console and create a list. Develop a program to | 10 | L3 | CO2
compute and prmt mean , variance, and standard deviation with messages.
%’ >y w7 Moy k3
b, . Module - 3
Q.5 | a. | Explain the following methods with suitable examples : 8 | L2 | CO3

i) upper() ii) loWer ;‘) iif) is_upper () iv) is_lower ()

b. | Illustrate with examplc opcnmg of a file with o
pen () function, reading th
contents of the fi gfe&mth read () and writing to files with write (). st ok S

Q“.ﬁy

A My
| of 2
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Q6 |a. Explain the stcp< Cinvolved in adding bullets to W|k| : Mdfkllp Support | 10 L2 | CO
with appropriate code.
ek L T3 [ €03
ﬁ DC\clnp a pmy'\m 10 sort the contents of a “toxt file and write the sorted | 10 | L3
contents into a separate text file. [Use strip(.) , len (), list methods sort OF
append and file methods open (), readlings () and write ()].
s Y A S NN " P - A TS ey
A Mo(lulc- Sk ﬁ_,__k__,,é—é?r
Q.7 Ilm\ do yml “copy / files and foldersusing Shutil module? E xplmn in detail. 6 | L2
fo- e LT R RAI 3 o D) ________.4__’—-&’——#»—""‘
b. | What arc Assertions? Write lhc tontents of an assert slz\tcmcnt fxplam 8 | L2 cO3
them with examples.
i b e — w, - ___‘______“_’___J;’——i
c. | llustrate the logging levels in python. W d 6 |L2|CO3
OR
Q.8 | a. | With suitable; LOdL explain Backing up a“ Foldur into a Zip file. Clearly | 12 | L2 cO3
mention the m,ps involved. N
b. ; Expldm thc loggmé> module and dcbug the factorial of numbcr program ~|s |L3|CO3
AI,., BL :
- Module 5
Q.9 |[a. | Whatisa Class? How to define class in Python? How' tol_.mltlate a class and 8 | L2 | CO4
how the class members a1e~”acccsscd‘7 S ;
b. 8 | L3 | CO4
P 4 | L1 | CO4
Q.10 | a. | What is Polymorphmm‘7 Demonstréte polymorphmn. Wlth functions to find | 10 | L3 | CO4
hlstogram to count the numbers of times each letters appears in a word and
in sentence
b.%xente Deck methods to add remove shufﬂcufnd sort cards, with illustrating | 10 | L2 | CO4
%, the problem. g &
Lo R,
. 3
g
£
% %
&9 dy, o
Ry 4
4y
£, R
A ¥
¥
Q’
&
feé'f“’
¢
(':3 ! 20f2
Moy >
Ny
S
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First/Second Semester B.E./B.Tech. Degree Examination, June/July 2023
Professional Writing Skills in English

Question Paper Version : A

Time: 1 hr.] [Max. Marks: 50
INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

Fill in the blank with proper phrasal verb from Q1 to QS.

AVIVT VYL IILNN T P I %

1. Would you my dog for me this weekend?
a) look b) lookafter ¢) lookup d) look on
2. My neighbour eggs yesterday.
a) ran b) ran out of ¢) ran into : d) ran in
3. John his leg at the baseball game.
a) broke b) broke down ¢) broke off d) broke on
4. Ourboss our meeting until next week.
a) put b) put off ¢) put down d) put on
: 5. _Could you the music while I am on the phone?
\ , a) turn b) turn off ¢) turn around d) tumn in

6. Find the proper noun in the sentence :
‘Riya took the dog to the park.’

a) Riya . b) Dog ¢) Park d) All of these

Find the common noun in ;
“The girl arrived in the state last week.’

a) girl b) state c¢) week d) All three

Find abstract nounin :
‘“The Theatre was engulfed in darkness.’
a) Theatre gt b) darkness ¢) engulfed d) None of these

(ol alwlaInln

Ver A— | of §







26.

27.

28.

29.

30.

SL

32.

33

34.

35.

BPWSK106/206

Iwarned him  driving so fast.

a) for b) on ¢) against d) of
A greedy man hankers money.

a) after b) for ¢)in d) of
Virtue consists speaking the truth.

a)on b) in c)ol d) for

Choose the sentence with the maodifier in the correct place, (Q.N0.29 to Q.No.32)

a) The clerk sold the scarf with the red print to the woman.
b) The clerk with red print scarf sold to woman.

¢) The scarf with woman sold to clerk.

d) The clerk sold the scarfto the woman with the red print.

a) On the way to school, Marissa found a green woman’s purse.
b) On the way to school Marissa found a woman’s green pursc.
¢) Marissa found a green woman’s purse on the way to school.

d) On the way to school found Marissa a woman’s green purse.

a) Just Adam was picked for the team.
b) Adam was just picked for the team.
¢) Team was picked for Adam just.
d) Just team was picked for Adam.

a) Mary ate a bowl of cold cereal for breakfast.
b) Mary ate a cold bowl of cereal for breakfast.
¢) A cold bowl of cereal Mary ate for breakfast.
d) Mary for breakfast ate a cold bowl of cereal.

Tick the appropriate Active / Passive form of the sentence. (Q.No.33 to Q.No.37)

We waste much time on trifles.

a) Much time was wasted on trifles.

b) Much time will be wasted on trifles.
¢) Much time is wasted by us on trifles.
d) Much time is wasted on trifles.

You don’t need to wind this watch.

a) This watch need not be wound.

b) This watch does not wind.

¢) This watch need not to be wounded.
d) This watch need not be winded up.

We have already done the exercise,

a) Already the exereise has been done by us.
b) The exercise has already been done by us.
¢) The exercise had been already done by us.
d) The exercise is already done by us.
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One should not give unsolicited advice.
a) Unsolicited advice is not o be given
b) Unsolicited advice can’t be given
¢) Unsolicited advice should not be given
d) Unsolicited advice may not be given
The boys elected Mohan Captain,
a) The boys were elected captain by Mohan.
b) Mohan is clected captain by the boys.
¢) Mohan was clected captain by the boys.
d) Mohan and the boys clected the captain,
Tick the correct indireet form of the sentence given. (Q.No.38 to Q.No.40)
“] am going to scarch the house™ said the officer.
a) The officer said that he is going to search the house.
b) The officer said that he was going to search the house.
¢) The officer said that I am going to search the house.
d) None of these
“Don’t Smoke”, she told me.
a) She told me that not smoke. b) She told me not to smoke.
¢) She told me to smoke. d) She told me Do not smoke.
“She’s never been here before”, He said.
a) He said that he has never been there before.
b) He said that she had never been there before.
¢) She said that he had never been there before.
d) He said that she had never been here before.
Each question consists of two words which have a certain relationship to each other
followed by four pairs of related words, select the pair which has the same
relationship. (Q.No.41 to 43)
DIVA : OPERA
a) Producer : Theatre b) Director : Drama
¢) Conductor : Bus d) Thespian : Play
PAIN : SEDATIVE
a) Comfort : Stimulant b) Grief: Consolation
¢) Trance : Narcotic d) Ache : Extraction
LIGHT : BLIND
a) Speech : Dumb b) Language : Deaf
¢) Tongue : Sound d) All of these
What are the good qualities of the precise writing?
a) cla'nty. and completeness b) correctness and conciseness
¢) objectivity and coherence d) All of these
Ver A 4 of §
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What kind of words are not suitable in a precis? " 9
a) Suggested., advised and questioned b) Requus(ed, honoured and awarded
¢) Plz, beoz, bt, ete. d) Nonc of these
Which of the following protocols is used to rcc.eive emml?
a) SMTP b) HTTP c) TTP dy B P3
Which of the following statements is incotrect wnh respect to writing ema:la?
a) We can not add more than one address in the “To” field - 24
b) We can leave the ‘BCC” field blank P
¢) We can leave the ‘CC” field blank ‘ f;*/
d) The ‘To’ and *CC" ficlds ate o’ﬁen uscd interchangeably *‘* '
A &
What are the types of paragmph wntm;,? ey |
a) Narrative, Persuative St b) descnpm/e
¢) Expository b 4 d) All of above.

AR P
ﬁ

A paragraph is afgroup of sentences that talk about

a) onc topic A ¢ b 4 P b) two topic

c) multxple,!g%:i ~ d)Bothaand ¢

Your Resume is a tool with one specl?c purpose :

a) To job %% b) To win an&&yﬁmew
c) To discuss salary d) To kno a,bout work
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Question Paper Version : A

First/Second Semester B.E./B.Tech. Degree —w.xw.im:u:o:. June/July 2023

Indian Constitution

Time: 1 hr.) [Max. Marks: 50
NSTRUCTIONS .—.O .ﬁ—.:n CANDIDATES
1. Answer all the fifty questions, each quiestion carries one mark.
2. Usc only Black ball point pen for writing / darkening the circles.
3. For each question, after selecting your answer, darken the appropriate circle
corresponding to the same ncn,m:o__ number on the OMR sheet.
4. Darkening two circles 0r the same question makés the answer invalid.
5. Damaging/overw riting, using whiteners on the OMR sheets are strictly
prohibited
L. Who acted as the chairman of the drafting éommittee of the constituent assembly?
a) B. R. Ambedkar b) C. Rajagopalachari
<) Rajendra Prasad d) Jawaharlal Nehru
2.  The Constituent >,.633_v set up under the Cabinet Mission plan had a strength of
a) 389 members b) 501 members ¢) 268 members d) 492 members.
3. On December 11, 1946 the Constituent Assembly elected .45 its permanent
chairman.
Jawaharial Nehru b).Dr. Rajendra Prasad
¢) Dr. B. R. Ambedkar d) K.M. Munshi
4.  The Drafiing Committee of the Constitution, including the'ehairman, comprised of
7 members b) 5 members ¢) 9 members d) 3 members
5. The Constitution of India came into force on
a) 26 January 1952 i b) 16 August 1948
¢) 26 January 1950 d) 26 November 1949
6.  Which one of the following excrcised the. most profound influence on the Indian
Constuution?
a) The Government of India Act, 1935 b) The US Constitution
c) British hc:;:E:o: d) The UN charter
7. How many vrroz:_rr the Fo:&:c:a: of India contains now?
a) 9 v h) 10 ¢) 1 412
8. llow many _::.7 has _zn_.:._ Constitution been divided into, at the time of its
commencement?
a) | b) 2 )21 d) 12
9. The Constitution of India is

a) Rigid «..b) Flexible ¢) Very rigid d) Partly rigid and partly flexible.
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10.
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12.

13.

14.

15.

16.

17

20.

21,

22.

23.
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The Constituent Assembly of Tndia took all decisions by i
a) Simplc Majority b) Two-Thirds majority
c) Consensus d) All of ;ﬁxwa ;
The preamble of Indian Constitution was amended. m.naar
a) Twice b) Thrice c) Osnm b7 4 d) Not amended

5:.78:5._5::._._n_rfrnsc:..v..m..d:_:_._ Mﬂn_ﬁ w:n.:?m:_w.oaav_,g!non
the constitution™? ﬁv

a) 24" Amendment

b)42™ Amendment
¢) 44" Amendment

ay
1oy, @) 73" Amendment L8

c..f Bt
The Constitution of India declares :&E as

a) A unitary state

¢

b) Federation .~ ¢) A quasi-federal s »ww d) A union of states
A state where ‘Head of the State’,is elected is called. )
a) Monarchy b) Oma.owv ¢) Republic d) Anarchy
In which year. did cripps mission come to India?
a) 1935 b) 1945 ©) 1949, d) 1942

Sexual harassment of working ~ women is violation of
a) Fundamental duty . b) DPSP
¢) Fundamental right » d) Rule of law

Which ol the following is no longer a fundamental right?
a) Right to liberty b) Right to equality
¢) Right to freedom ol religion d) Right t.property.

Right 10 equality under article 14 means
a) Treating all people ecquality

b) E EE__Q among equals and not equality E:o:m .:F.._E_z
¢) Upliftment ol SCs and $T's and vnrr«s._mm_ mdnuv people
d) None of the above. i

"y

4
4 e

Right to life includes 2
a) Right to die

b) Right purchase moveable property
¢) Right to carry on any c:ﬁ:&«

d) Right to get education

Restrictiop ‘cannot be imposed c: ‘the right of :mmeae_: of speech and expression on the
ground of

a) Defamation

b) Law and order problem
¢} Incitement of an c_._.aanﬁ

& Contempt of court

The directive principles of state policy ..___‘c..z the state to secure to all the workers.
a) Minimal wages b) Fair wages
c) Living wages d) Standard wages

¥id

The aim of the directive principles. of state policy is

a) To proteet the civil rights of the citizens

b) To restrain the state from misusing its power and public money
¢) To promote the gencral-welfare of the society

d) To make special rules to protect women.

This is not a funddmental duty
a) To defend the country
¢) To make scientific improvement

%

b) To develop scientific temper
d) To uphold and protect sovereignty of India.
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.- | VTU Examination

USN WTT] ] ‘ } ) | BCEDK 203

BGS College of Engineering & Technology
Second Semester B.E, Degree Examination, Aug/Sep 2023
Computer Aided Engineering Drawing

Time: 3 hrs.

\

Note: Answer all FOUR questions

Grid sheets will be provided for making preparatory sketches

Max. Marks: 100

Module -1 Marki
Q.01 An equilateral triangle lamina of 25mm lies with one of its edges on H.P. Such that the
: surface of the lamina is inclined to H.P. at 60°. The edge on which it rests is inclined to V.P. at 20 |
60°. Draw the projections. i
Module-2 |
Q.02 4 cube of 40mm sides rests on H.P. on an edge which is inclined to V.P. at 30°. Draw thei
projections of the cube when the axis is inclined to H.P. at 50°. =30
|
Module-3 :
Q.03 A square prism base side 40mm, height 50mm is placed centrally on a cylindrical slab of |
diameter 100mm and thickness of 30mm. Draw the isometric projection of the combination. 25
Module-4
A regular pentagon pyramid of sides of base 35mm and altitude 65mm has its base on H.P.
Q.04 with a side of base perpendicular to V.P. The pyramid is cut by a section plane which is
perpendicular to V.P. & inclined at 30° to H.P. The cutting plane meets the axis of the
pyramid at a point 30mm below vertex. Obtain the development of remaining part of the 2>
pyramid.
Computer Sci i i
puter Science & Engineering BATCH - 4




